An acceptance sampling plan is to be designed to meet the organization's targets for product quality and risk levels. Which of the following is true? 

	a) n and c determine the AQL. 

	b) AQL, LTPD, [image: image1.png]


and [image: image2.png]


collectively determine n and c. 

	c) n and c are determined from the values of AQL and LTPD. 

	d) [image: image3.png]


and [image: image4.png]


are determined from the values of AQL and LTPD. 

	e) none of these is true


Please provide the correct answer (if possible, add a sentence explaining why).

